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E27F1 A1 BRE

B 4 =8 &t B 4 2 & &t
AEZEHT 0 0 0 | = RiHT 0 4 4
KIZRHET 128 148 276 |HRET 7 7 14
3 SHET 3 0 3 |/EHT 2 4 6
=AHT 138 193 331 |FLILET 6 1 17
=&idtE 60 85 145 |1 EHT 1 0 1
SE AT 4 2 6 |[#ARHET 5 4 9
= [ ET 29 52 81 |&HT 2 4 6
FFFHET 0 2 2 |SRHT 1 21 32
KA HT 10 30 40 |4a[RHET 0 0 0
SEEHT 7 10 17 |1 &HT 193 201 394
i AHT 0 0 0 |7iBHT 0 1 1
4./ $ERET 11 15 26 |f&GHT 28 52 80
FE+EHET 6 2 8 | SHT 83 81 164
HrHHZET 0 1 1 |;EHT 0 0 0
S ERHET 1 9 10 |—&HT 1 2 3
YiE A BT 1 3 4 |&HT 25 26 51
Hr HHET 0 0 0 2 /RHET 102 183 285
AN 0 20 20 |74 ;iHT 6 35 41
R AAHET 16 29 45
AHT 3 5 8
| ARHT 0 0 0
FR LA HT 4 9 13
JUHET 7 6 13
E AT 3 6 9
fHsEHT 19 14 33| & 3 922 1,277 2,199




